DEERE N\L— sk ERMER

SFTEI10ARIE
REER 4 T BRAEHS ERRE (M)
2R —wi= | t.BXEHKE 1,050
—r |BERTSBE zotoR — 890
CE) | Zpe_wpsns | L. BXIEHE 17 4,300
ERTEE FZ0H o B 3,570
EE AR=—VICERATEH A — =t 5.670
= S Wy s - =] 1H#FEﬁ
a—h ElR—YLUNICERT L5 22 640
e K & ® W —= 2,200
% OB OB OB % B 30% 260
w?ﬁ—& — B & H —A1E 320
R 5 B # A& 1] 1,790
- & & H KA—A1E 220
N—=> 1ZE 48] 3,150
L, — =1 +.8B XiEHKABE - -
/{(&ﬁ FH 1=4% 3,770
s & 181 2,630
@» H -
Rl T 0 f Ty 3140
Je812-1-28 Ik Al — A 380
)t:}_g (111535‘.%5%%*4’@&5 IJ\ A ZE%FEﬁ 170
f& X Al —A 320
7-8+12+1-2 :tHEEs EHEE 1§£Fﬁﬁ 6,790
A XIEtkH 12247
Z B =] CAIEES fq:& 9,060
I—L EHeES I 124 9,670
A o) 145 7,530
& +i2H. HIER 13431 5,670
m | T O SaENINS 1= 7,530
» B L3 4,720
DOimdH :
ol =5 % 6.280
tiER. BEA 127 2520
7-8-12-1-28 XI(FKH 1B4%
(;%Hifjgi‘f*ﬂ& 1 ;j:ﬁﬁ 2:28
=T D B :
s 2 = Tott 1251 3,150
= +iEA. B ELa 2,100
20 O XA HE 1251 3,150
J=| BT 1,780
DOt H :
€oih =5 % 2620




